L i 5\{ AL ot & ub}mj d"are/f

(> 19127/ )6
SYBCOM-SUB-ECONOMICS - SEM IV SEPT 2016- 75 MARKS-2 % HOURS

Q1) Answer the following: (Any 2) (15)

A) Examine the sectoral composition of National Income.
B) State the impartance of inclusive growth.
C) What are the causes of unemployment in India?

Q2) Discuss the following y(Any 2) (15)

A) Causes of low agricultural productivity.
B) Featuresof New Agricultural Policy 2000.
C) Measures to ensure food security to all.

t
Q3) Answer the following : (Any 2) (15)

A) Examine the patter industrial diversification.
~s_ B) "Distinguish betweé&n Act 1869 and Competition Act 2002.
C) Discuss the significanc &ice sector in India. ‘
. |
Q4) Discuss the following : (Any 2) (15)

A} First Phase Banking Sector Refor 5@
B) Role of Central Bank in developing A

C) Objectives of Monetary Policy. @
| k.

Q5) A) State True or False with reasons : (Any 4) \S\ (08)

*

1) There are no changes in occupational structure in ilﬂy

2) Education and health are very important for growth a @@rmic development.

3) Research & Development are not required for increasing cultural production and
productivit.{;.

4) Green Box subsidies are neither prohibited nor actionable.

5) Monopolies result in consumer satisfaction.

6) MSME's are by and large, labour intensive.

7) Indian banking system comprises only state owned banks.

8) Central bank is the apex Monetary Authority.

B) Fill in the blanks: (Any 7) (07)

1) NEP 1991 was introduced by

a) P.v.NarasimhaRao/ (c) Rajiv Gandhi
b) Indira Gandhi (d) Rahul Gandhi




pr

2) sector’s share in GDP is rising faster.
a) 'Agr{iculture (c) Industry
b) Services (d) Export
3) In unemployment_Marginal Productivity of worker is zero.
a) $easonal (c) Disguised
b) Educated (d) industrial
4) Agricultural Policy 2000 encourages _ Participation.
a) Private (c) Public
b) Social (d) Government
o 5) Food:security problem arises due to factors,
a) Dlem_and (c)Botha &b
b) Supply {d) none of the above

6) WTO came into existence on
a) 1 January 1995 (c) 1 April 1995
b) 1December 1995 (d)1 August 1955

7) Emergence of rﬁonopolies result in .
a) Innovation (c) Price competition

b) Market failure (d) Consumer satisfaction
&) The MSME Act was passed in

) 22005 (c) 2002
' (d) 2006
ic

9) Se ar goods.
a) Re'aQw (c) Physical
b) Tangi ( (d) intangible

10) h gest overseas network among Indian banks.
a) Icicl | &The SBI
b) BOB | ) HDFGsBank

11) 2 ]is the centralﬁ@dia.
a) RBI| (c)C
b) RDI ‘ (d) FBI

12) |__isrise in price level.

a) Deflltiop (c) Inflation

b) Reﬂdtioﬂ? (d) Dis-inflation




